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25 Ml s LA RNERETKEE | WEETS | SFERRTE| BHETH EEXTH SIRE AR
GBS RE ke J6/5007% - 2. 90 3. 60 3. 70 3.80 3.00
s KK 10T i 48%¢ J6/10kg (£%) 56. 90 55. 00 65. 00 50. 00 64. 00 60. 00
THI ¥ B A J6/5005% - 3. 00 3. 80 3. 30 4. 00 3. 50
2] JG/500 %% 4. 50 4. 00 3. 80 3. 40 4.00 4.00
P 1e 6 (B 1E) A — Jt/5FF 169. 90 - 156. 00 - 155. 50 150. 00
PR e — ]2 Jt/5FF - - 56. 00 56. 00 55. 50 50. 00
5% A % A J6/500 5% 16. 00 17. 00 19. 80 24. 80 15. 80 21. 00
3% A W4 A 75./500 5% 14. 80 17. 00 21. 00 24. 80 23. 50 21. 00
i 3% 7 57 Je R A J6/500 5% 16. 00 14. 00 15. 80 18. 80 21. 00 16. 00
3% JihiHE J6/50075% 39. 90 32. 00 36. 00 36. 00 25. 50 28. 00
WEE 2 Y it A 76./500 5% 36. 90 53. 00 55. 00 68. 00 47. 00 54. 00
2 Y 4 fisg J6/5005% 34. 80 42. 00 45. 00 52. 00 46. 50 50. 00
(=S| oL i 76./500 5 - - 45. 00 48. 00 46. 50 46. 00
XA 4. TPk, B2 56/5005% - 11. 00 12. 00 18. 00 13. 50 16. 00
AR PR J6/5005% — 4. 30 4. 00 5. 80 4. 30 5. 20
it g J6/500 5% 22.90 22.00 30. 00 21. 00 23. 00 32. 00
Al 50058 A A — 4 J6/500 5% 16. 90 27. 00 - 18. 80 - 27.00
fdF Hifh 5200058 /A4 —4 | J6/5007¢ 11. 80 - 9. 00 12. 00 - 12. 80
o 1efi WE150050 /64 —4% | JG/500%C 13. 80 - 10. 80 12. 00 - 12. 50
i) £21 3507 A A — 4% J6./5005 15. 80 16. 00 11.80 15. 00 11.50 13. 80
HEFR MR 73040 H /50077 J6/500 5% - 36. 00 31. 00 35. 00 36. 00 29. 00
EES WHEE—2 76/500 5 1.65 2. 80 3. 50 2. 50 4. 80 2. 80
S PE—2 J6/500 5% - 4. 50 4. 00 5. 00 4. 50 4. 00
UNSE2 B — 2 J6./500 5% - 3. 50 4. 00 4. 00 3. 50 3. 50
B3 WE—2 J6/5005 - 2. 80 2. 80 3.00 3. 30 3. 00
i PrE— 2% J6/500 757 4. 50 6. 50 5. 50 7.20 5. 50 5. 50
i PHEE—2 J6./500 5 3. 58 5. 08 5. 60 5. 00 5. 50 5. 00
A2k P2 J6/50075¢ 2.38 3. 50 3. 40 4. 20 4. 50 3. 50
2 P — 2 76/500 5 - 3. 00 4. 50 4. 00 5. 50 4. 80
K PrEE—2 J6/5005 6. 50 5. 50 7.00 8. 00 6. 50 5. 80
K P — 2% J6/500 757 - 6. 80 - 8. 00 - -
B3 PrEE—2 J6./500 5 - - 12. 00 15. 00 - 10. 00
KEER P — 2% J6/500 757 2. 40 2. 00 1. 60 2. 50 2. 80 2. 40
LN W2 75./500 5% 1.99 2. 80 4. 00 5. 00 5. 30 3. 60
[LEAR T P — 2% J6/500 5% 3. 45 4. 00 4. 20 5. 00 5. 30 4. 80
+5= P — 2 J6/5005% 1.99 2. 40 3. 30 3. 50 3. 00 3. 20
i1 PrE—2 J6./500 5% 2.58 5. 20 - 6. 00 6. 50 4. 50
. J5 B — 2% J6/50075% 7.38 7. 80 - 10. 00 7.80 9. 00
2 b P2 76./500 5% 1.18 1.50 1. 60 2. 50 2.00 1. 80
EJIN P — 2% J6/500 5% 2.09 2. 40 2. 40 2. 50 - 2. 50
R PHE—2 76./5005% 1.29 2. 40 3. 00 3.00 2. 80 3. 00
B PrEE—2 J6./500 5% 3. 98 5. 80 5. 80 7. 80 5. 80 5. 50
AR BrE— 2 J6/50075% 2.98 4. 30 6. 00 5. 50 6. 00 4. 80
1% PrE—2 76./500 5% 3. 50 4. 20 3. 80 4. 50 5. 80 5. 50
= P — 2% J6/500 757 2.25 3. 00 3. 50 4. 00 4. 30 2. 80
FING] WE—2 J6/500 5% - 6. 50 6. 80 8. 00 8. 00 9. 00
2 H P — 2% 76/50075% - 7. 80 10. 00 12. 00 8. 00 6. 50
5 7 2 PHE—2 J6/500 5 7.90 11. 00 14. 50 15. 00 10. 00 12.80
f 5 4 PrE—2 J6/500 5% 6. 50 11.00 14. 50 15. 00 11. 00 12. 00
) B — 2 J6/500 5% - 7. 80 10. 00 8. 00 9. 00 8. 80
2 PE—2 J6/5005% 6. 90 9. 50 9. 00 13. 00 9. 50 10. 80
ek BHE— 2% J6/500 757 7.79 9. 00 9. 00 9. 00 8. 80 9. 80
A PE—2 J6/500 5 2.99 2. 50 3. 50 3. 50 2. 80 3. 50
[V P2 J6/50075% 4. 98 4. 20 5. 80 6. 80 5. 00 5. 00
i P — 2 76./500 5% 1.58 3. 80 4. 60 5. 00 4. 50 3. 20
P [ —2% JG/500 %% 5. 99 5. 50 5. 00 6. 80 7.50 6. 80




PR a5+ —% J6/50075% 4,58 4. 80 5. 80 6. 00 7. 50 5. 80
KR e = —2 J6/50075% - 3. 80 4. 00 4.50 5.00 4. 60
A IKERAL— 2 J6/500 7% 4. 58 - 4. 00 3. 50 - 5. 60

[N 38 7 I JG/5007%, 4.99 3. 80 - - - -
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